ON THE QUASI-HADAMARD PRODUCT OF CERTAIN UNIVALENT FUNCTIONS

S. OWA, J. PATEL AND M. ACHARYA

Abstract. We improve some recent results due to Kumar (J. Math. Anal. Appl. 126 (1987), 70-77) concerning the quasi-Hadamard product of certain starlike and convex univalent functions.

A.M.S. (1991) subject classification: 30C45.

Key words and phrases: Starlike functions, convex functions and Quasi-Hadamard product.

1. Introduction. Let A denote the family of functions f which are analytic in the unit disk $E = \{z : |z| < 1\}$ and normalised by f(0) = f'(0) - 1 = 0. Let S denote the subfamily of A consisting of functions that are univalent in E. A function $f \in S$ is in $S(\alpha)$, the class of starlike functions of order $a(0 \le \alpha < 1)$ if and only if $Re\{zf'(z)/f(z)\} > \alpha$, $z \in E$. Further, $f \in S$ is in $C(\alpha)$, the class of convex functions of order α if and only if $zf'(z) \in S(\alpha)$.

Let T denote the subclass of S consisting of functions whose non-zero coefficients, from the second on, are negative; that is, an analytic and univalent function f ∈ T, if and only if it can be expressed in the form

(1.1)
$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, a_k \ge 0.$$

Further, we denote $ST_0^{\$}(\alpha)$ and $C_0^{\$}(\alpha)$, $0 \le \alpha < 1$, the classes

obtained by taking intersections, respectively, of the classes $\overset{\star}{S}(\alpha)$ and $C(\alpha)$ with T. These classes were introduced and studied by Silverman [9].

For a function $f(z) = \sum_{k=0}^{\infty} a_k z^k$ analytic in E, we define the differential operator D^n , $n \in \mathbb{N}_0 = \{0, 1, 2, ...\}$ by

(i)
$$D^{O}f(z) = f(z)$$

(ii)
$$D^1f(z) = zf'(z)$$

(iii)
$$D^n f(z) = D(D^{n-1} f(z))$$
.

This operator was introduced by Salagean [8]. We note that if $f(z) = \sum_{k=0}^{\infty} a_k z^k \text{ is analytic in E, then } D^n f(z) = \sum_{k=0}^{\infty} k^n a_k z^k.$

Let $S_n^*(\alpha)$ denote the class of function $f \in T$ such that

$$\operatorname{Re}\left\{\frac{D^{n+1}f(z)}{D^{n}f(z)}\right\} > \alpha, \quad n \in N_{0}$$

for $z \in E$ and $0 \le \alpha < 1$. It is easily seen that $S_0^{*}(\alpha) = ST_0^{*}(\alpha)$ and $S_1^{*}(\alpha) = C_0^{*}(\alpha)$, $0 \le \alpha < 1$.

A necessary and sufficient condition for a function f defined by (1.1) to be in $S_n^{*}(\alpha)$ is that

(1.2)
$$\sum_{k=2}^{\infty} k^{n}(k-\alpha) a_{k} \leq (1-\alpha).$$

A more general form of this result can be found in [7].

From (1.2), it follows that for any positive integer n

$$s_{n}^{*}(\alpha) \subset s_{n-1}^{*}(\alpha) \subset \cdots \subset s_{2}^{*}(\alpha) \subset C_{0}^{*}(\alpha) \subset sT_{0}^{*}(\alpha)$$

and

$$S_n^*(\alpha_2) \subset S_n^*(\alpha_1), \quad 0 \leq \alpha_1 < \alpha_2 < 1.$$

We also note that for every $n \in N_0$; the class $S_n^{\bigstar}(\alpha)$ is non-empty as the functions of the form

$$f(z) = z - \sum_{k=2}^{\infty} k^{-n} \left\{ (1-\alpha)/(k-\alpha) \right\} \lambda_k z^k,$$

where $0 \le \alpha < 1$, $\lambda_k \ge 0$ and $\sum_{k=2}^{\infty} \lambda_k \le 1$, satisfy the inequality (1.2).

Let
$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k$$
, $a_k \ge 0$ and $g(z) = z - \sum_{k=2}^{\infty} b_k z^k$,

 $b_k \ge 0$. The quasi-Hadamard product of the functions f(z) and g(z) is defined by

$$(f * g)(z) = z - \sum_{k=2}^{\infty} a_k b_k z^k$$

Similarly, we can define the quasi-Hadamard product of more than two functions. We note that Padmanabhan and Manjini [7] used the phrase "Modified Hadamard product" instead of "Quasi-Hadamard product" in this definition.

Problems concerning the quasi-Hadamard product of two or more functions have been considered by many researchers [1,2,3,4,6,7]. Recently, Kumar [2] has established the following theorems for the quasi-Hadamard product.

Theorem A. For each $i=1,2,\ldots,m$, let the functions f_i belong to the classes $ST_0^{\sharp}(\alpha_i)$ $(0 \le \alpha_i < 1)$, respectively.

Then, the quasi-Hadamard product $(f_1 * f_2 * \cdots * f_m)$ belongs to the class $S_{m-1}^*(\alpha^*)$, where $\alpha^* = \max \{\alpha_1, \alpha_2, \dots, \alpha_m\}$.

Theorem B. For each $i=1,2,\ldots,m$, let the functions f_i belong to the classes $C_0^{\bigstar}(\alpha_i)$ $(0 \le \alpha_i < 1)$, respectively. Then, the quasi-Hadamard product $(f_1 * f_2 * \cdots * f_m)$ belongs to the class $S_{2m-1}^{\bigstar}(\alpha^{\bigstar})$, where $\alpha^{\bigstar} = \max \left\{\alpha_1,\alpha_2,\ldots,\alpha_m\right\}$.

Theorem C. For each $i=1,2,\ldots,m$, let the functions f_i belong to the classes $ST_0^{\bigstar}(\alpha_i)$, respectively; and for each $j=1,2,\ldots,q$, let the functions g_j belong to the classes $C_0^{\bigstar}(\beta_j)$ ($0 \le \beta_j < 1$), respectively. Then, the quasi-Hadamard product $(f_1 * f_2 * \cdots * f_m) * (g_1 * g_2 * \cdots * g_q)$ belongs to the class $S_{m+2q-1}^{\bigstar}(\gamma)$, where $\gamma = \max \{\alpha_1, \alpha_2, \ldots, \alpha_m, \beta_1, \beta_2, \ldots, \beta_q\}$

Theorem D. For each $i=1,2,\ldots,m$, let the functions f_i belong to the class $C_o^{\aleph}(\alpha)$, and let $0 \le \alpha \le r_o$, where r_o is a root of the equation $2^m(1-mr)-(1-r)^m=0$ in the interval $(0,\frac{1}{m})$. Then, the quasi-Hadamard product $f_1 * f_2 * \cdots * f_m$ belongs to the class $S_{m-1}^{\aleph}(m\alpha)$.

The object of the present paper is to improve Theorems A,B,C and D by using a different technique. The classes, to which the quasi-Hadamard product belongs, determined by us are smaller than those given by Kumar [2]. Evidently, our results are more inclusive as well as applicable, and thus improve theorems A, B, C and D.

Unless otherwise mentioned, we assume throughout this paper that the functions of the form

$$f_{i}(z) = z - \sum_{k=2}^{\infty} a_{k,i} z^{k}, a_{k,i} \ge 0$$

and

$$g_{j}(z) = z - \sum_{k=2}^{\infty} b_{k,j} z^{k}, b_{k,j} \ge 0,$$

are analytic in the unit disc E. We, further, assume that $0 \le \alpha_{\rm i} < 1$, $0 \le \beta_{\rm j} < 1$ and $n_{\rm i} \in N_{\rm o} = \{0,1,2,\dots\}$.

2. Main Results

First, we prove

Theorem 1. Let the functions f_i be in $S_{n_i}^*(\alpha_i)$ for each i=1,2, respectively. Then, the quasi-Hadamard product $f_1 * f_2$ belongs to $S_p^*(\gamma)$, where $p=n_1+n_2+1$ and

(2.1)
$$\gamma = \gamma(\alpha_1, \alpha_2) = \frac{2(\alpha_1 + \alpha_2) - 3\alpha_1 \alpha_2}{2 - \alpha_1 \alpha_2}$$
.

The result is best possible.

Proof: In view of (1.2), it is sufficient to prove that

$$\sum_{k=2}^{\infty} k^{n_1+n_2+1} (k-\gamma) a_{k,1} a_{k,2} \leq (1-\gamma).$$

Since $f_i \in S_{n_i}(\alpha_i)$ for i = 1,2, we have

$$\sum_{k=2}^{\infty} k^{n_{i}} (k-\alpha_{i}) a_{k,i} \leq (1-\alpha_{i}).$$

Therefore, by virtue of Cauchy-Schwarz inequality,

(2.2)
$$\sum_{k=2}^{\infty} \left\{ k^{n_1+n_2} \frac{(k-\alpha_1)(k-\alpha_2)}{(1-\alpha_1)(1-\alpha_2)} \right\}^{1/2} \sqrt{a_{k,1} \cdot a_{k,2}} \leq 1.$$

Thus, we need to find the largest 7 such that

$$\sum_{k=2}^{\infty} k^{n_1+n_2+1} \frac{(k-1)}{(1-1)} a_{k,1} a_{k,2} \le \sum_{k=2}^{\infty} \left\{ k^{n_1+n_2} \frac{(k-\alpha_1)(k-\alpha_2)}{(1-\alpha_1)(1-\alpha_2)} \right\}^{1/2} \sqrt{a_{k,1} a_{k,2}}$$

or, equivalently, that

$$\sqrt{a_{k,1} \cdot a_{k,2}} \leq \left\{ \frac{k^{n_1 + n_2} (k - \alpha_1) (k - \alpha_2)}{(1 - \alpha_1) (1 - \alpha_2)} \right\}^{1/2} \cdot \frac{(1 - \gamma)}{\frac{n_1 + n_2 + 1}{k} (k - \gamma)}, \quad k \geq 2.$$

In view of (2.2), it is enough to find the largest γ such that

$$\left\{ \frac{(1-\alpha_1)(1-\alpha_2)}{ \frac{n_1+n_2}{k-\alpha_1}(k-\alpha_2)} \right\}^{1/2} \leq \left\{ \frac{\frac{n_1+n_2}{k-\alpha_1}(k-\alpha_2)(k-\alpha_2)}{(1-\alpha_1)(1-\alpha_2)} \right\}^{1/2} \cdot \frac{(1-\gamma)}{\frac{n_1+n_2+1}{k-\gamma}}, \ k \geq 2.$$

That is,

(2.3)
$$\forall \leq \frac{(k-\alpha_1)(k-\alpha_2)-k^2(1-\alpha_1)(1-\alpha_2)}{(k-\alpha_1)(k-\alpha_2)-k(1-\alpha_1)(1-\alpha_2)}$$

$$=\frac{k(\alpha_1+\alpha_2)-(k+1)\alpha_1\alpha_2}{k-\alpha_1\alpha_2}, \quad k \geq 2.$$

We denote the right hand side of (2.3) by $\Phi(k)$ and show that $\Phi(k)$ is an increasing function of $k \ge 2$. This will be true if for $k \ge 2$

$$(2.4) \quad \Phi(k+1) - \Phi(k) = \frac{(k+1)(\alpha_1 + \alpha_2) - (k+2)\alpha_1 \alpha_2}{(k+1 - \alpha_1 \alpha_2)} - \frac{k(\alpha_1 + \alpha_2) - (k+1)\alpha_1 \alpha_2}{(k-\alpha_1 \alpha_2)} > 0.$$

On simplifying (2.4), we get

$$\Phi(k+1) - \Phi(k) = \frac{(1 - \alpha_1)(1 - \alpha_2)}{(k+1 - \alpha_1\alpha_2)(k - \alpha_1\alpha_2)}$$

which is certainly positive for $k \ge 2$ and $0 \le \alpha_1$, $\alpha_2 < 1$. Thus, (2.4) holds true. Putting k = 2 in (2.3), we deduce (2.1). The result is best possible for the functions of the form

$$f_{i}(z) = z - \frac{(1-\alpha_{i})}{2^{n_{i}}(2-\alpha_{i})} z^{2}, \quad i = 1,2.$$

The above theorem can be extended for more than two functions which is as follows.

Theorem 2. Let the functions f_i be in $S_{n_i}^{\mathbf{x}}(\alpha_i)$ for each $i=1,2,\ldots,m$, respectively. Then the quasi-Hadamard product $(f_1 \times f_2 \times \cdots \times f_m)$ belongs to $S_p^{\mathbf{x}}(\gamma_m)$, where $p=n_1+n_2+\cdots+n_m+m-1$ and γ_m is given by

(2.5)
$$\gamma_{m} \equiv \gamma_{m}(\alpha_{1}, \alpha_{2}, ..., \alpha_{m}) = \frac{\prod_{i=1}^{m} (2-\alpha_{i}) - 2^{m} \prod_{i=1}^{m} (1-\alpha_{i})}{\prod_{i=1}^{m} (2-\alpha_{i}) - 2^{m-1} \prod_{i=1}^{m} (1-\alpha_{i})}$$

The result is best possible.

<u>Proof:</u> We prove by induction on m. From Theorem 1, it follows that the result is true for m = 2. Let us assume that (2.5) is true for m = s-1. Then, we shall prove it for m = s. By assumption, $(f_1 * f_2 * \cdots * f_{s-1})$ belongs to the class $S_{p_0}^*(\gamma_{s-1})$, where $p_0 = n_1 + n_2 + \cdots + n_{s-1} + (s-2)$ and γ_{s-1} is given by

$$\gamma_{s-1} = \frac{\prod_{i=1}^{s-1} (2-\alpha_i) - 2^{s-1} \prod_{i=1}^{s-1} (1-\alpha_i)}{\prod_{i=1}^{s-1} (2-\alpha_i) - 2^{s-2} \prod_{i=1}^{s-1} (1-\alpha_i)}.$$

Since $f_s \in S_{n_s}^*$ (α_s) , by using Theorem 1, we deduce that the

quasi-Hadamard product $(f_1 * f_2 * \cdots * f_{s-1}) * f_s$ belongs to the class $S_{p_1}^*(\gamma_s)$, where $p_1 = p_0 + n_s + 1$ and γ_s is given by

(2.6)
$$\gamma_{s} = \frac{2(\gamma_{s-1} + \alpha_{s}) - 3 \gamma_{s-1} \cdot \alpha_{s}}{2 - \gamma_{s-1} \cdot \alpha_{s}},$$

which on simplification yields

$$\gamma_{s} = \frac{\prod_{i=1}^{s} (2-\alpha_{i}) - 2^{s} \prod_{i=1}^{s} (1-\alpha_{i})}{\prod_{i=1}^{s} (2-\alpha_{i}) - 2^{s-1} \prod_{i=1}^{s} (1-\alpha_{i})}.$$

This completes the proof of Theorem 2.

It is easy to see that the result is best possible for the functions of the form

$$f_{i}(z) = z - \frac{2^{-n_{i}}(1-\alpha_{i})}{(2-\alpha_{i})} z^{2}, \quad 1 \le i \le m.$$

Remark. From (2.1), we note that $1 \ge \alpha_1$ and $2 \ge \alpha_2$. Similarly, from (2.5), it follows that for i = 1, 2, ..., m

$$\gamma_{i} \geq \alpha_{j}, \quad j = 1, 2, \dots, i.$$

from which, we have

$$\gamma_i \ge \max \{\alpha_1, \alpha_2, \dots, \alpha_i\} = \lambda_i$$
 (say).

Thus,

$$s_n^*(\gamma_i) \subseteq s_n^*(\lambda_i)$$

for each i = 1, 2, ..., m and $n \in N_0$. We, further, note that the containment is proper if $m \ge 2$.

Putting $n_i = 0$ for each i = 1, 2, ..., m in Theorem 2, we have Corollary 1. Let the functions f_i be in $ST_0^{\bigstar}(\alpha_i)$ for each i = 1, 2, ..., m, respectively. Then the quasi-Hadamard product $(f_1 * f_2 * \cdots * f_m)$ belongs to $S_{m-1}^{\bigstar}(\gamma_m) \subseteq S_{m-1}^{\bigstar}(\lambda)$, where γ_m is defined as in (2.5) and $\lambda = \max(\alpha_1, \alpha_2, ..., \alpha_m)$.

The result is best possible.

Letting n_i = 1 for each i =1,2,...,m in Theorem 2, we have Corollary 2. Let the functions f_i be in $C_0^*(\alpha_i)$ for each i = 1,2,...,m, respectively. Then the quasi-Hadamard product $(f_1 * f_2 * \cdots * f_m)$ belongs to $S_{2m-1}^*(\gamma_m) \subseteq S_{2m-1}^*(\lambda)$, where γ_m is defined as in (2.5) and $\lambda = \max(\alpha_1, \alpha_2, \ldots, \alpha_m)$.

The result is best possible.

Corollary 3. For each $i=1,2,\ldots,m$, let the functions f_i be in $ST_0^{\mathbf{x}}(\alpha_i)$, respectively; and for each $j=1,2,\ldots,q$, let the functions g_j be in $C_0^{\mathbf{x}}(\beta_j)$, respectively. Then, the quasi-Hadamard product $f_1^{\mathbf{x}}f_2^{\mathbf{x}}\cdots \mathbf{x}f_m^{\mathbf{x}}g_1^{\mathbf{x}}g_2^{\mathbf{x}}\cdots \mathbf{x}g_q$ belongs to $S_p^{\mathbf{x}}(\gamma_m,q)\subseteq S_p^{\mathbf{x}}(\lambda)$, where p=m+2q-1, $\lambda=\max(\alpha_1,\alpha_2,\ldots,\alpha_m,\beta_1,\beta_2,\ldots,\beta_q)$ and γ_m,q is given by

$$\gamma_{m,q} \equiv \gamma_{m,q}(\alpha_1,\alpha_2,\ldots,\alpha_m,\beta_1,\beta_2,\ldots,\beta_q)$$

$$= \frac{\prod_{i=1}^{m} (2-\alpha_{i}) \prod_{j=1}^{q} (2-\beta_{j}) - 2^{m+q} \prod_{i=1}^{m} (1-\alpha_{i}) \prod_{j=1}^{q} (1-\beta_{j})}{\prod_{i=1}^{m} (2-\alpha_{i}) \prod_{j=1}^{q} (2-\beta_{j}) - 2 \prod_{i=1}^{m+q-1} \prod_{j=1}^{m} (1-\alpha_{i}) \prod_{j=1}^{q} (1-\beta_{j})}.$$

The result is best possible.

The proof of Corollary 3 follows from Corollaries 1 and 2 followed by Theorem 1.

Remark. In view of the remark following Theorem 2, we observe that the Corollaries 1,2 and 3 provide better estimate when compared with Theorems A, B and C.

Theorem 3. For each $i=1,2,\ldots,m$, let the functions f_i be in $C_0^{\times}(\alpha)$, $0 \le \alpha < 1$. Then the quasi-Hadamard product $(f_1 \times f_2 \times \cdots \times f_m)$ belongs to the class $S_{m-1}^{\times}(\gamma)$, where

(2.7)
$$\gamma = \gamma(m,\alpha) = \frac{2\{(2-\alpha)^m - (1-\alpha)^m\}}{2(2-\alpha)^m - (1-\alpha)^m}.$$

The result is best possible.

<u>Proof</u>: Since $f_i \in C_0^*(\alpha)$ for each i = 1, 2, ..., m, we have

$$\sum_{k=2}^{\infty} k(k-\alpha)a_{k,i} \leq (1-\alpha).$$

Therefore,

(2.8)
$$\sum_{k=2}^{\infty} k^{m} \left(\frac{k-\alpha}{1-\alpha}\right)^{m} \prod_{i=1}^{m} a_{k,i} \leq 1.$$

We have to find the largest $\gamma = \gamma(m,\alpha)$ such that

$$\sum_{k=2}^{\infty} k^{m-1} \left(\frac{k-\gamma}{1-\gamma}\right) \prod_{i=1}^{m} a_{k,i} \leq 1.$$

In view of (2.8), the above inequality is satisfied if

$$\frac{k-\gamma}{1-\gamma} \le \frac{k(k-\alpha)^m}{(1-\alpha)^m}, \quad k \ge 2$$

that is, if

$$(2.9) \qquad \gamma \leq \frac{k[(k-\alpha)^m - (1-\alpha)^m]}{k(k-\alpha)^m - (1-\alpha)^m}, \quad k \geq 2.$$

We shall prove that the right hand side of (2.9) is an increasing function of $k \ge 2$. This will be true if the function

(2.10)
$$\Phi_{m}(k) = (k^{2}-1)(k+1-\alpha)^{m} - k^{2}(k-\alpha)^{m} + (1-\alpha)^{m}$$

is non-negative for each $k \ge 2$ and $m \ge 1$. Now,

(2.11)
$$\Phi_1(k) = k(k-1) > 0.$$

Also, from the recursive formula

$$\Phi_{m+1}(k) = (k-\alpha)\Phi_{m}(k) + (k-1) (k+1)(k+1-\alpha)^{m} - (1-\alpha)^{m}, m=0,1,2,...,$$
 we have

(2.12)
$$\Phi_{m+1}(k) > (k-\alpha)\Phi_{m}(k), k \ge 2.$$

Thus, by using (2.11) and (2.12), we deduce that $\Phi_{m}(k)$ is non-negative for $k \geq 2$ and $m \geq 1$. Now, by putting k = 2 in the right hand side of (2.9), we get the required result. This proves Theorem 3.

The result is best possible for the functions of the form

(2.13)
$$f_{i}(z) = z - \frac{1-\alpha}{2(2-\alpha)} z^{2}, i = 1,2,..., m.$$

Taking m = 1 in Theorem 3, we get the following comparable result due to Silverman [9].

Corollary 4. For $0 \le \alpha < 1$, we have

$$C_0^*(\alpha) \subset ST_0^*(\frac{2}{3-\alpha})$$
.

The result is best possible.

Theorem 4. For each $i=1,2,\ldots,m$, let the functions f_i belong to the class $C_0^*(\alpha)$, and let $0 \le \alpha \le r_0$, where r_0 is the root of the equation $2^m(1-mr)-(1-r)^m=0$ in $(0,\frac{1}{m})$. Then, the quasi-Hadamard product $(f_1*f_2*\cdots*f_m)$ belongs to the class $S_{m-1}^*(7) \subseteq S_{m-1}^*(\alpha m)$, where 7 is defined as in (2.7).

The result is best possible.

<u>Proof</u>: The first half of the theorem, that is; the quasi-Hadamard product $(f_1 \times f_2 \times \cdots \times f_m)$ belongs to the class $S_{m-1}^*(\gamma)$ follows from Theorem 3. It remains to show that

$$s_{m-1}^*(\gamma) \subseteq s_{m-1}^*(m\alpha),$$

where $m \ge 1$, $m\alpha < 1$ and γ is defined as in (2.7). This will be true if

$$2\left\{(2-\alpha)^{m}-(1-\alpha)^{m}\right\} \geq m\alpha\left\{2(2-\alpha)^{m}-(1-\alpha)^{m}\right\}$$

or, equivalently, if

$$2(1-m\alpha)(2-\alpha)^{m} - (2-m\alpha)(1-\alpha)^{m} \ge 0.$$

Since

$$(2-\alpha)^{m} \ge 2^{m-1}(2-m\alpha)$$
 $(m \ge 1, m\alpha < 1, 0 \le \alpha < 1),$

we have

$$2(1-m\alpha)(2-\alpha)^{m} - (2-m\alpha)(1-\alpha)^{m}$$

$$\geq 2(1-m\alpha)(2-\alpha)^{m} - \frac{(2-\alpha)^{m}(1-\alpha)^{m}}{2^{m-1}}$$

$$= \frac{(2-\alpha)^{m}}{2^{m-1}} \left\{ 2^{m}(1-m\alpha) - (1-\alpha)^{m} \right\} \geq 0$$

for $0 \le \alpha \le r_0$, where r_0 is the root of the equation $2^m(1-mr) - (1-r)^m = 0$.

This proves Theorem 4.

The result is best possible for the functions f_i defined by (2.13).

Remark. We observe that Theorem 4 improves Theorem D of Kumar [2].

References

- [1] V. Kumar, Hadamard product of certain starlike functions, J. Math. Anal. Appl., 110 (1985), 425-428.
- [2] V. Kumar, Quasi-Hadamard product of certain univalent functions, J. Math. Anal. Appl., 126 (1987), 70-77.
- [3] S. Owa, On the classes of univalent functions with negative coefficients, Math. Japan., 27 (1982), 409-416.
- [4] S. Owa, On the starlike functions of order α and type β , Math. Japan, 27 (1982), 723-735.
- [5] S. Owa, On the Hadamard products of univalent functions, Tamkang J. Math., 14 (1983), 15-21.
- [6] S. Owa and B.A. Uralegaddi, A class of functions α -prestarlike of order β , Bull. Korean Math. Soc., 21 (1984), 77-85.
- [7] K.S. Padmanabhan and R. Manjini, On generalization of perstarlike functions with negative coefficients, Bull. Inst. Math. Academia Sinica, 15 (1987), 329-343.

- [8] G.S. Salagean, Subclasses of univalent functions, Lecture notes in Mathematics, Springer Verlag, 1013 (1983), 362-372.
- [9] H. Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51 (1975), 109-116.

Department of Mathematics Kinki University, Higashi-Osaka Osaka 577, Japan

Department of Mathematics Utkal University, Vani Vihar Bhubaneswar-751004, India.